(x+3y)(x - 3y) & H/NsA?

® x-3y @ x? - 3y? ((@)62—9)12

@ x* + 9y ® 2x% - 9y?

X% = (3y)? = 22 — 9y?




2. (2x+1)(5x+A) =10x*> + Bx-2 & W, A+ B 9] 312?

@ -10 @ -5 @—1 @ 1 ® 5

(2x + 1)(5x + A) = 10x> + Bx — 294 Ax 1 = -2, TetA
A=-2,B=2A+5=10°]t},
L A+B=-1




3.

O& T &2 A2?

flo

® (-a-b)?=

—(a+b)?

@(—a +b)? = a® — 2ab + b*

® (~a+2)(-a-2)=-da®>-4

@ (2a-b)? = 4a® - b?

® (a+b)?-(a-b)*=0
B
—a-b)?2={-(a+b)})®>=(a+b)?

—a+b)?={-(a-b)}’

(-a)?-22=a%-4
2><2a><b+b2—4a

(a+
Z, (a-b)? =a® - 2ab + b?

— 4ab + b?




4. x(x-1)(x+2)(x=3) =x* +ax® + bx®> + cx ANA &5 a, b, 2] F
a+b+c® P27

@ -3 @—1 ® 2 @ 3 ® 6

B

x(x—-1)(x+2)(x—-3)

= {x(x = )H(x +2)(x - 3)}

=(x?-x)(x>-x-6)

¥ —x =12 X|F5IH 1(1 - 6) = 1> - 61

t=x*— x5 Y5t A2 sk x* — 2x3 - 52 + 6x
Ot a+b+c=-2-5+6=-1°]|t}.
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7. UE I™-YAA7IEY Rt (3ap?)t & W, A 71E Y] ol
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@ gazb5 @) gatb6 ® 1—(7)a2b5
8 4 18 5 5
@ 15ab ® 5a b
1 454°b?
(LHe)= 5 x5a%h x (3b)? = “2
2 18
b= (3ab?) X o = — a2
(Bab™) X oo = 5 ¢




g(12x+24)—%(36—12x) — Ax +Bx 2t g o, A -B 9] ghe?

D1 @2 ® 3 @ 4 ® 5

(F£4]) = 2x% + 4x - (3x — x?)
=3x* +x=Ax*>+ Bx

A=3, B=1
LA-B=2




WPE (x—3)(x+6)< AMot=t] 6 & AR ZF Bol 2 4 x+ B
2 kAt E, (4x +2)(x - 2) 5 WA x 9 A 45 AR
HobA Cx* —4x— 45 Z/NSEAT o] W, A 4+ B+ C 9] 27

-1 @-1 @5 @1 ® 5

gL ‘
(x=3)(x+A) =x*+x+ Bo|BE

A+(-3)=1, —34=8

L A=4,B=-12

x O AgE A5 H37] dlee] 1L 45 Det st
(Dx+2)(x—2) = Cx® —4x - 40| B2

D=3 C=3

L A+B+C=-5




10. 44 A, B, C ol ti5to] (2x—A)2 =4x2 + Bx+ CO|aL B=-24-6
A, A+ B+C 9 32?

1
o+  @-; @ @ 2 ® 4

B *
(2x—A)?2 =4x? —4Ax + A? = 4x* + Bx + C

—4A =B o|BE&

—4A =-2A-6

LA=3

B=-2x3-6=-12

C=A%2=9

LA+B+HC=3-124+9=0
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=3(x+3)(x-2) + (x 3)(x+5) o AMANA x o] Ap=?

1
-3 @2 o0-; @s ® 15

~3(x+3)(x=2) + 3(x-3)(x +5)

1
=-3(x>+x-6)+ E(x2 +2x - 15)

1 1
= 32— 3x+ 184 2% 4 x— =
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13. o 283} o] 7k 9] Zol7t 2xem , Al22] Zol7} 3yem 1 A A
ZFd ABCD 2Fe] Fol& 3ol ZAE ABFE ¢ HAH2F9g EGHD

= dddsle o, g2 Folo HWolE x, y o A o= vt=A vEhd
A&7
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B F C
® 4x2 + 18xy + 18y? @ 4x% - 18xy + 18y?
® 4x® - 18xy — 18y? @ —4x — 18xy + 18y?

@—4x2 + 18xy — 18y?

—€B \
ED 9| Zo]x 2x - 3y o|th. nEGHD 7} Az o2 2 BEG
9] ol 2x - 3y o|t}. WA GF 2] Aol 3y — (2x - 3y) =
—2x + 6y ©|t}.

I BE AAF FE| "ol (2x - 3y)(-2x + 6y) = —4x* +
18xy — 18y? o] Hr},




14. (x+3y+z)(x-3y-z)& A7istA?

D x?-3yz-6y?-72 @ x?-3yz-9y% -7
@ x2—6yz—3y2—z2 @x2—6yz—9y2—22

® x%-9yz-9y% - 22

~&B

(x+3y+z)(x—3y—z)°llA 3y +z =12} S}AL
(a+b)(a—b) =a®-b>= o]§5to] 7 etH
X2 —£20|a t =3y + z & tHYSHA

x? = (3y+2)?

= x2 — (9y + 6yz + 22)

= x? — 9y? — 6yz — 22 °|T}.
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A FAL ol gsto] gL Adshu?

511 x 511 - 510x 512 -2

® -2 @—1 ®0

@ 1

B

a=51l1 2 =99

511 x 511 —510x 512 -2
=axa-(a-1)x(a+1)-2
=a’>-(a®-1)-2
=a’?-a?+1-2=-1




